
 250 

 Øi.54 
Øe.54

35

 Øi.50 
 Øe.50 30 

 Øi.45 
 Øe.45 25 

 Øi.38 

 Øi.38 25 

 Øe.35 30 

S.S. Pipe n°1
P/N 3015611201

S.S. Pipe n°2
P/N 3015611202

S.S. Pipe n°3
P/N 3015611203

S.S. Pipe n°4
P/N 3015611204

8x Short Springs
P/N 303949001

4x S.S. Flanges
P/N 206285

4x S.S. Bushings
P/N 206279

S.S. Flange 
P/N 206279S.S. Bushing 

P/N 206285

S.S. Pipe
P/N 3015611206

S.S. Pipe
P/N 3015611208

S.S. Pipe
P/N 3015611210

INCLUDED
Lambda Sensor
P/N 5682

2x Flange Nut M8
P/N 200298

Screw 
M8x50
P/N 200461

Alu Spacer 
Ø27 Ø8,5 
P/N 204321

bike's frame

4x Screw
M5x12
P/N 201031
4x Washers
Ø15 Ø5
P/N 406580

8x Gaskets
Ø14 Ø4,9
P/N 200371

Carbon Heat Shield
P/N 0815607001

4x Mountings Plates M5
P/N 204555

Carbon Heat Shield
P/N 083896002

bike's frame

Carbon Bracket
P/N 0815611502

S.S. Bracket
P/N 3015611501

S.S. Washer
Ø12 Ø6
P/N 200291

Nut M6
P/N 200322

2x Screws
M6x12
P/N 201265

S.S. Plate
P/N 207181

S.S. Muffler
P/N 3015602485U

Screw
M8x20
P/N 200722

Alu Spacer
Ø22 Ø8,5 h.11
P/N 205090

S.S. Pipe
P/N 3015611212

dB-Killer n°80
P/N 3015602801 36 

 60 

 79 

 5
3 

43
 

35
 

 3
1 

ART. 15611BU

HONDA CB 650 R / CBR 650 R

FULL SYSTEM   LV-14R   BLACK EDITION


	DT-15611BU
	Vista del disegno7
	Vista del disegno8
	Vista del disegno9
	Vista del disegno10
	Vista del disegno11


